

### District Wise Glow Sign Board Data (PLANTS)

Sno.	District	Particulars	No. of Boards	Size (in ft.)	L	B	Total Size (in ft)	Remarks
1	Jalandhar Canneries	Glow Sign Board	1	6x3	6	3	18	
		Glow Sign Board	1	8x4	8	4	32	
		Glow Sign Board	1	10x5	10	5	50	
2	Khanna Plant	Glow Sign Board	1	28x4	28	4	112	
		Glow Sign Board	1	25x3	25	3	75	
		Glow Sign Board	1	16x4	16	4	64	
		Glow Sign Board	1	9.5x4	9.5	4	38	
			7	<b>Total</b>			389	

### District Wise Glow Sign Board Data (Sale Centre/Bazaar)

Sno.	District	Particulars	Sale Centre	Address	No. of Boards	Size ( in ft.)	L	B	Total Size (in ft)	Remarks
1	Amritsar	Glow Sign Board	Markfed Bazaar,	DM Office Building, 3-C Block Ranjit Avenue, Amritsar	1	16x4	16	4	64	
			Markfed Bazaar,	DM Office Building, 3-C Block Ranjit Avenue, Amritsar	1	7x4	7	4	28	
			Markfed Sale Centre,	100 ft. Road, East Mohan Nagar, Amritsar	1	2x6	2	6	12	
			Markfed Sale Centre,	100 ft. Road, East Mohan Nagar, Amritsar	1	3x6	3	6	18	
2	Bathinda	Glow Sign Board	Markfed Sale Centre,	Bathinda	1	10x4	10	4	40	
			Markfed Sale Centre,	Bhucho	1	10x4	10	4	40	
			Markfed Sale Centre,	Rampura	1	10x4	10	4	40	
			Sale Centre	Shopping complex, NFL Township	1	10x4	10	4	40	
			Markfed Sale Centre,	Mour	1	10x4	10	4	40	
			Markfed Sale Centre,	Raman	1	10x4	10	4	40	
3	Faridkot	Glow Sign Board	Markfed Sale centre, Jaitu	MRM Godowns, opp New grain market, kotkapura road, Jaitu	1	8 x 3	8	3	24	
			Markfed Agro Sale centre, Kotkapura	Tin koni chaowk, opp new grain Market, moga road, Kotkapura	1	8 x 3	8	3	24	
			Markfed District office	Near Baba Farid Law college, Kotkapura road, Faridkot	2	8 x 3	8	3	48	
			Markfed Sale centre, weevco Building	Near Clock tower, Main bazar, Faridkot	1	8 x 3	8	3	24	

4	Fatehgarh	Glow Sign Board	BRANCH SIRHIND/ SALE CENTER	MARKFED BRANCH OFFICE, NEXT TO CHUNGI NO.4, NEAR OLD BU STAND, SIRHIND, PIN CODE- 140406, 6239192217	1	13x4	13	4	52
5	Fazilka	Glow Sign Board	MARKFED SALE CENTRE FAZILKA	MARKFED DISTRICT OFFICE FAZILKA OPP PATWAR KHANA	1	10*5FT	10	5	50
			MARKFED SALE CENTRE JALALABAD	Bhamni Bazar Jalalabad	1	10*5FT	10	5	50
6	Ferozpur	Glow Sign Board	Sale Centre	District Office, Ferozpur	1	10x4	10	4	40
7	Gurdaspur/ Ptk	Glowsign Board	Sale Centre	Markfed District Manager Office,Sale Centre,Gurdaspur.	1	15 x 4 (Feet)	15	4	60
			Sale Centre	Markfed Branch Office,Gurdaspur Sale Centre ,Pandori Road,Gurdaspur	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed Sale Centre Dera Baba Nanak	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed Sale Centre Sale Centre Fatehgarh Chuiran	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed Sale Centre Sale Centre Dhariwal	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed Branch Office Qadian Sale Centre	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed Branch Office,Sale Centre,Dinanagar.	1	10 x 4 (Feet)	10	4	40
			Sale Centre	Markfed,Sale Centre,Aliwal	1	10 x 4 (Feet)	10	4	40

				Road,Batala.					
			Sale Centre	Markfed Sale Centre,Sarna,Pathankot	1	10x4	10	4	40
8	Hoshiarpur	Glow Sign Board	Sales Centre	Markfed District Office, New Grain Market. Rahimpur Chowk Hoshiarpur	1	6*4	6	4	24
9	Jalandhar	Glow Sign Board	Markfed Bazaar	Near BSF Chowk GT Road Jalandar, 8427387114	1	20x4	20	4	80
			Markfed Agro Service	New dana mandi near HMV College, Jalandhar, 9914018777	1	40x4	40	4	160
			CMS Adampur	Near Railway Road Opp. Co-operative Bank Adampur, Jalandhar, 8968500267	1	10x3	10	3	30
			CMS Phillaur	Old grain market Phillaur, Jalandhar, 8872599955	1	10x3	10	3	30
			CMS Goraya	New Grain Market Goraya, 9653353309	1	10x3	10	3	30
10	Kapurthala	Glow Sign Board	CMS Sultanpur Lodhi	Old Dana Mandi, Sultanpur Lodhi, 9876353577	1	12x3	12	3	36
			CMS Kapurthala	New Dana Mandi, Kapurthala, 9779773008	1	12x4	12	4	48
			Markfed Mini Bazaar	District Office, Gopal Park, Kapurthal, 9501313979	1	30x4	30	4	120



### District Wise Glow Sign Board Data (Distributors)

S.no.	District	Particulars	Distributor	GST Number	No. of Boards	Size ( in ft.)	L	B	Total Size (in ft)	Remarks
1	Amritsar	Glow Sign Board	Needz Wholesale Store	03AUOPS1427R1ZO	1	15*5	15	5	75	
			Sukhwinder Singh & Co.	03AUOPS1427R1ZO	1	15*5	15	5	75	
			SS Trading Co.	03CZVPS1135E1ZB	1	20*5	20	5	100	
			Khosla Karyana Store	03ABLP4744P1ZC	1	30 x 4.5	30	4.5	135	
			Khosla Karyana Store	03ABLP4744P1ZC	1	16 x 1.5	16	1.5	24	
			CMS Azad Rayya	03AAAAT5381N1Z8	1	8*4	8	4	32	
			Mohinder Singh Karyana Store	NO	1	20*4	20	4	80	
			Dogra Kohlu Ghar	NO	1	8*4	8	4	32	
			Tarsem Karyana Store	03AADFT1424E1ZU	1	15*4	15	4	60	
			Gagandeep Trading Co.	03AAMPA5492J1ZO	1	15*4	15	4	60	
			Arvinder Oil Mills, Ajnala Chowk	NO	1	10x4	10	4	40	
			Narinder Kumar & Co, Sultanwind Road	03AAXPK7349D1ZG	1	5x2	5	2	10	
			Sheele Shah di Hatti, Lopoke	03BUOPK9079G1Z6	1	7x4	7	4	28	
2	Bathinda	Glow Sign Board	Parkash Chand and Sons	03AFRPM3645P2ZT	1	8*4Feet	8	4	32	
			Din dayal duli chand	03AFOPG5167R1ZU	1	10*4	10	4	40	
			jain traders	03AQJPK2199K1ZK	1	14*4	14	4	56	
3	Barnala	Glow Sign Board	Shri Chintpurni Traders	03AKRPK0426F1ZH	1	11 x 5	11	5	55	
			Sohan Lal Ram Chand	03AAPPL9692L1ZH	1	13 x 4	13	4	52	

			<b>Meg Raj Dhaula &amp; Sons</b>	03BBNPK0054K1ZS	1	8 x 4	8	4	32	
			<b>Singla Karyana Store</b>	03AWNPK1038M2Z F	1	13 x 4	13	4	52	
4	<b>Faridkot</b>	Glow Sign Board	<b>Jindal Health Pharmacy</b>		1	8*3	8	3	24	
5	<b>Fatehgarh</b>	Glow Sign Board	<b>Bal Krishan Dharampal, Khamano, 9872793282</b>	03AAVPK6277G1Z7	1	20 x 6	20	6	120	
			<b>New Shiv Shakti Sweets, Sirhind Mandi, 9625000038</b>	03ABWPS1535M2Z 3	1	20 x 4	20	4	80	
			<b>CASS Jallah, Sirhind, 9781202450</b>	03AACAT8615K1ZT	1	20 x 4	20	4	80	
			<b>Coop. Super Store, Sirhind, 9814545341</b>	03AAIA3565A1ZT	1	15 x 4	15	4	60	
			<b>Sushil &amp; Co., Bassi Pathana, 7814205000</b>	03BHDPS4373K2Z3	1	8 x 4	8	4	32	
			<b>Bansal Karyana Store, Bassi Pathana, 9988045073</b>	03ACJPK4200F1ZA	1	20 x 4	20	4	80	
6	<b>Fazilka</b>	Glow Sign Board	<b>Gilhotra Sweet House, 17-18 INDRA MARKET OPP STATE BANK OF PATIALA FAZILKA</b>	03AMYPK4555A1Z2	1	8*4 ft'	8	4	32	
			<b>MURARI LAL SHAM LAL, SALEMSHAH ROAD FAZILKA</b>	03AADPL4125E1Z D	1	10*5 ft"	10	5	50	
			<b>Gulshan Trader, VIJAY NAGAR JALALABAD</b>		1	8*4 FT"	8	4	32	
7	<b>Ferozepur</b>	Glow Sign Board	<b>Ashok Trading Co.</b>		1	11.5 x 6	11.5	6	69	
			<b>Inderjeet Singh &amp; Satish Kumar</b>		1	16 x 3	16	3	48	
			<b>Jagdish Mitter &amp; Harvinderpal</b>		1	12 x 3	12	3	36	

			<b>The Thathadalel Singh Wala PACS</b>		1	16 x 3	16	3	48	
			<b>The Malsian Kalan PACS</b>		1	10 x 4	10	4	40	
			<b>The Ferozepur City Co-Operative Marketing Cum Processing Soceity Ltd.</b>		1	10 x 4	10	4	40	
8	<b>Gurdaspur/Ptk</b>	Glow Sign Board	<b>Madan Lal and Sons, Ghomaan , Gurdaspur</b>	03AOVPK8037Q1Z3	1	10 x 4 (Feet)	10	4	40	
			<b>M.S.Store Batala, Gurdaspur</b>	03AXUPK8330Q1ZQ	1	10 x 4 (Feet)	10	4	40	
			<b>Gurdaspur Ex Service Man Family Canteen Kot Budda</b>	03AAWFG4749A1ZE	1	10 x 4 (Feet)	10	4	40	
			<b>Karan Trader, Fatehgarh Churian , Gurdaspur</b>	03ANWPK4225C1Z7	1	10 x 4 (Feet)	10	4	40	
			<b>MPCS Dera Baba Nanak, Gurdaspur</b>	03AABTT2280Q1ZB	1	10 x 4 (Feet)	10	4	40	
			<b>Raj Singh And Sons,Chatwal, Pathankot</b>	03FMNPK5707C1Z8	1	10 x 4 (Feet)	10	4	40	
			<b>Shri Chand Baba Ji Trading Co., Pathankot</b>	03LRRPS8082B1ZB	1	10 x 4 (Feet)	10	4	40	
			<b>Shri Baba Nakodar Dass Ji,Baret(Kangra)</b>	02ALLPP7723K2ZS	1	10 x 4 (Feet)	10	4	40	
			<b>Nirmal Dass Santokh Singh , Pandoh, District-Mandi</b>	02ADNPS5651B1ZP	1	10 x 4 (Feet)	10	4	40	
			<b>Kishan Chand Dharampal, Dinanagar, Gurdaspur</b>	03AABFK4944N1Z7	1	10 x 4 (Feet)	10	4	40	
			<b>Tek Chand and Sons, Gurdaspur</b>	03BJJPK1783R1ZN	1	10 x 4 (Feet)	10	4	40	

9	Hoshiarpur	Glow Sign Board	Bagowal PACS	03AACAT8781A3Z L	1	10*4	10	4	40	
			Rinku Ent	03ABTPI9889D1Z3	1	8*4	8	4	32	
			Khalsa Food Store	03ICWPK6769Q1Z 8	1	17*3	17	3	51	
			Dev Raj Vinod Kumar	03AAFD5683Q1Z3	1	25*4	25	4	100	
			Bakshi Lal		1	10*2.5	10	2.5	25	
			RK enterprises	03AAXPK0869N1Z 0	1	10*4	10	4	40	
			Waheguru trading	03AKLPT8855D1Z T	1	8*4	8	4	32	
			bajaj trader	03AHZPB8947M3Z I	1	10*4	10	4	40	
			Ajay Kumar Karyana Store	03BTPK1991R1ZZ	1	10*4	10	4	40	
			Khanna Enterprises	03BQAPK4695Q1 ZB	1	10*4	10	4	40	
			bhupinder pal &co	03AAYPK1148D1Z U	1	15*5	15	5	75	
10	Jalandhar	Glow Sign Board	Jaswant Rai & Sons	03AALPB1956H1Z0	1	8 x 3	8	3	24	
			Gupta Karyana Store	03ACYPC2636EIZT	1	10 x 4	10	4	40	
			Khere Enterprises (Lohian)	03ABIPK6889L1Z1	1	12 x 3	12	3	36	
			Friends Sales (Kala Bakra)	03AGBPB0603P1ZZ	1	15 x 3	15	3	45	
			Tajinder Singh & Sons	03AZNPK8610N1Z 0	1	10 x 3	10	3	30	
			Satpal Rakesh Kumar	03ABLFS6041F1ZC	1	10 x 3	10	3	30	
			Apna Sasta Store (Bhogpur)	03DVRPS108K1Z5	1	10 x 3	10	3	30	
			Parshotam Lal & Sons	03AAAPI8513J1Z0	1	10 x 3	10	3	30	

			<b>The Shakhot Coop. Marketing Society Ltd.</b>	03AAAJT0841N1Z2	1	10 x 3	10	3	30	
<b>11</b>	<b>Kapurthala</b>	Glow Sign Board	<b>Sharma Karyana Store, Nadala</b>	03CHWPS8710C1Z4	1	6x13	6	13	78	
			<b>Parshotam Singh Swaran Singh Phagwara</b>	03AAAFP9805G1ZG	1	3x10	3	10	30	
			<b>Boota Ram Harsh Gupta Kapurthala</b>	03AKDPG8556E1ZE	1	3x12	3	12	36	
			<b>Ashok Kumar &amp; Sons, Sultanpur</b>	03ACJPA4757F1ZY	1	12x4	12	4	48	
			<b>Sushil Trading Company Kala Sangha</b>	03AESP4702P1Z5	1	3x15	3	15	45	
<b>12</b>	<b>Ludhiana</b>	Glow Sign Board	<b>Amar Chand &amp; Sons</b>	03AAHFA3387R1ZO	1	10 x 4	10	4	40	
			<b>Madan Krayana Store</b>	03ACDPM6772A1ZZ	1	12 x 4	12	4	48	
			<b>Kamal Enterprises</b>	03ACYPK9731G1Z7	1	8 x 2.5	8	2.5	20	
			<b>Punjab trading company</b>	03AHBPG4021B1ZH	1	12 x 4	12	4	48	
			<b>Surinder Kumar Om Parkash</b>	03AQMPK5743Q1Z9	1	17 x 4	17	4	68	
			<b>Sahil Traders</b>	03BFCPJ8205C1Z4	1	11 x 3	11	3	33	
			<b>Madan Lal Rajesh kr.</b>	03ACUPK8251B1ZO	1	37 X 4	37	4	148	
			<b>Raj Kumar Nagpal</b>	03ACKPK9722F1ZO	2	10 x 3	10	3	60	
			<b>Om Prakash Shubhkaran Das</b>	03AGSPK7723Q1ZO	1	20 x 4	20	4	80	
			<b>Tulsi Ram Rakha Ram</b>	03AAAHM7098C1ZE	1	10 x 4	10	4	40	
			<b>Nagpal Bros</b>		1	10 x 3	10	3	30	
			<b>Pick 'n' Move</b>	03ACYPK7886L1ZK	1	14 x 3	14	3	42	
			<b>Varun Cold drinks (1)</b>	03AGBPC5010F1ZG	1	20 x 5	20	5	100	
			<b>Varun Cold drinks (2)</b>	03AGBPC5010F1ZG	1	27 x 8	27	8	216	

			markfed sale centre DMO		1	10 x 3	10	3	30	
			surinder kumar joginder pal	03AAYFS8204N1ZJ	1	10 x 5	10	5	50	
13	Mansa	Glow Sign Board	Ms. Kaur Sain Satpal, Bareta	03DREPK7245D1Z2	1	11.10 x 4.2	11.1	4.2	46.62	
			Shri Balaji Trading Company, Bhikhi	03EWIPK9103G2ZN	1	10 x 4	10	4	40	
			Ms. Shubham Trading Company, Sardulgarh	03ACXPL8332P1ZT	1	10 x 3	10	3	30	
			Ms. Prem Kumar Pawan Kumar, Mansa	03AEAPK4614C1ZB	1	15 x 4	15	4	60	
			Jindal Vanaspati and Sugar Traders, Mansa	03AAAFJ8463G1ZI	1	9 x 4	9	4	36	
			Ms. Des Raj Rattan Chand, Budhlada	03AEMPJ7778J1ZY	1	8X4	8	4	32	
14	Muktsar	Glow Sign Board	Mool Chand Kasirja & Sons	03BZLPK0907K1ZF	1	10 x 4	10	4	40	
			Des Raj & Sons	03AARPG2581K1ZJ	1	6 x 3	6	3	18	
			Chintpurni Traders	03ADOPN4076A1Z S	1	10 x 4	10	4	40	
15	Moga	Glow Sign Board	Radhey Sham & Sons	03AAIFR0216R1Z4	1	9 x 4	9	4	36	
			Bharat Bhushan & Sons	03AAFFB5296G1ZK	1	20 x 5	20	5	100	
			Raunta Trading Company	03AAUPL8218M1Z5	1	13 x 5	13	5	65	
			Piare Lal Raj Kumar	03AAFHP5193N1ZR	2	15 x 2.5	15	2.5	75	
			Bansal Karyana Store	03AZPPB7939K1ZZ	1	10 x 4	10	4	40	
			Charan dass & sons	03AAOPP6840P3ZZ	1	10 x 4	10	4	40	
			HARIWAL WORLD FPO	03AAMAT3264G1ZH	1	8x16	8	16	128	
16	Mohali	Glow Sign Board	Ruldu Ram and Sons	03AAEFR2055G1ZM	1	15X4	15	4	60	

			<b>SPS Global Suppliers</b>	03AEIFS9408N1ZJ	1	<b>12X4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Shree Roop Agencies</b>	03ADDPJ3851G1ZY	1	<b>12X4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Shri Gurudev Mart</b>	03ABBP3359C1Z8	1	<b>12X4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Pabla Feed and Khaad Store</b>	03DKDPS6610C1ZK	1	<b>12X4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
<b>17</b>	<b>SBS Nagar</b>	Glow Sign Board	<b>Navroop oil Mill (Rahon)</b>	03GVMPS1380G1ZD	1	<b>10 x 3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
			<b>THE MAHIL GAILA M.P.CASS LTD, Mahil Galia</b>	03AAAAT0457H1ZU	1	<b>10 x 3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
			<b>MIGLANI KEY STORE (Aur)</b>	03AHNPK8349N1ZP	1	<b>10 x 3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
			<b>Jagdish Raj Raj Kumar, Dana Mandi Nawanshahr</b>	03AASFJ1110A1Z6	1	<b>13 x 4</b>	<b>13</b>	<b>4</b>	<b>52</b>	
<b>18</b>	<b>Patiala</b>		<b>Rohit Provision Store</b>	03AWVPB1656L1ZB	1	<b>10 x 2.5</b>	<b>10</b>	<b>2.5</b>	<b>25</b>	
			<b>Thapar Di Hatti</b>	03AHWPP3618C1ZC	1	<b>18 x 8</b>	<b>18</b>	<b>8</b>	<b>144</b>	
			<b>Kanahya Lal Pankaj Kumar</b>	03AYEPS3398H1Z5	1	<b>12 x 3</b>	<b>12</b>	<b>3</b>	<b>36</b>	
			<b>Kartar Singh &amp; Sons</b>	03ACFPS0954E1ZV	1	<b>12ft*4ft</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Goyal traders</b>	03AJAPT8845M1ZP	1	<b>24ft*3ft</b>	<b>24</b>	<b>3</b>	<b>72</b>	
			<b>Aggarwal Enterprises</b>	03CPNPK1655K1ZP	1	<b>8ft*4ft</b>	<b>8</b>	<b>4</b>	<b>32</b>	
			<b>Om Trading Company</b>	03AKBPK8852F1ZB	1	<b>23.5ft*3ft</b>	<b>23.5</b>	<b>3</b>	<b>70.5</b>	
			<b>Balaji traders</b>	03ACRPS5479A1ZD	1	<b>30ft*6ft</b>	<b>30</b>	<b>6</b>	<b>180</b>	
<b>19</b>	<b>Ropar</b>	Glow Sign Board	<b>New Shivloti Enterprises - 9914400464</b>	3CFXPS7846L1ZD	1	<b>13 x 3</b>	<b>13</b>	<b>3</b>	<b>39</b>	
			<b>Kishori Lal &amp; Sons Morinda - 9814080045</b>	03ABLPK5195Q1ZZ	1	<b>36 x 4</b>	<b>36</b>	<b>4</b>	<b>144</b>	
			<b>Hira Departmental Store Ropar - 9212524634</b>	03BAVPS6730F1ZE	1	<b>20 x 7</b>	<b>20</b>	<b>7</b>	<b>140</b>	
			<b>Dheeru Salig Ram -</b>	03ALBPK3660J1ZC	1	<b>14 x 5</b>	<b>14</b>	<b>5</b>	<b>70</b>	

			<b>9417808043</b>							
			<b>Ram Lal Balkrishan</b>	03ABLPK5190M1ZC	1	<b>15 x 4</b>	<b>15</b>	<b>4</b>	<b>60</b>	
<b>20</b>	<b>Sangrur</b>	Glow Sign Board	<b>Jain trading Co.</b>	03AAAFJ5334N1ZF	1	<b>12 x 5</b>	<b>12</b>	<b>5</b>	<b>60</b>	
			<b>Mittal Traders</b>	AAXPR6597E1ZZ	1	<b>10 x 3.5</b>	<b>10</b>	<b>3.5</b>	<b>35</b>	
			<b>Hem Raj Amrit Lal</b>	03AABFH2856C1ZY	1	<b>8 x 4</b>	<b>8</b>	<b>4</b>	<b>32</b>	
			<b>Atma Ram Jagannath</b>	NO	1	<b>14 x 3.5</b>	<b>14</b>	<b>3.5</b>	<b>49</b>	
			<b>Garg bros</b>	03AAIFG6878Q1ZL	1	<b>25 x 4</b>	<b>25</b>	<b>4</b>	<b>100</b>	
			<b>Tarsem Lal Rakesh kumar</b>	03AUNPG1062B1ZB	1	<b>10.8 x 3.5</b>	<b>10.8</b>	<b>3.5</b>	<b>37.8</b>	
			<b>Atma Ram Ram Bhagat</b>	03ABLPS7249H1ZB	1	<b>12 x 4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Sunil Trading Company</b>	03ACWPB6759P1ZT	1	<b>10 x 2</b>	<b>10</b>	<b>2</b>	<b>20</b>	
			<b>Rohan trading Co.</b>	03AGXPS4325B1ZE	1	<b>22 x 4</b>	<b>22</b>	<b>4</b>	<b>88</b>	
			<b>Kundan Lal Shiv Kumar</b>	03ANRPK6549G1ZP	1	<b>10 x 4</b>	<b>10</b>	<b>4</b>	<b>40</b>	
			<b>Amarjeet Singh &amp; Bros</b>	NO	1	<b>16 x 4</b>	<b>16</b>	<b>4</b>	<b>64</b>	
			<b>Om Parkash Rakesh kumar</b>	03AAWPK4036G1ZP	1	<b>10 x 4</b>	<b>10</b>	<b>4</b>	<b>40</b>	
			<b>Chawla Enterprises</b>	NO	1	<b>22 x 5</b>	<b>22</b>	<b>5</b>	<b>110</b>	
			<b>Sharda trading Co.</b>	03ANJPM7711N1ZQ	1	<b>22.5 x 3</b>	<b>22.5</b>	<b>3</b>	<b>67.5</b>	
			<b>Pritpal trading Co.</b>	03AZXPP0274F1Z6	1	<b>10 x 5</b>	<b>10</b>	<b>5</b>	<b>50</b>	
<b>21</b>	<b>Tarantarn</b>	Glow Sign Board	<b>Gurdev Soap Factory</b>	03ACOPS5113L1ZE	1	<b>20*3</b>	<b>20</b>	<b>3</b>	<b>60</b>	
			<b>Gagan Karyana Store</b>	03BCYPS1844P1ZP	1	<b>25*3</b>	<b>25</b>	<b>3</b>	<b>75</b>	
			<b>Shah Karyana Store</b>	03ACDFS3191B1ZL	1	<b>30*4</b>	<b>30</b>	<b>4</b>	<b>120</b>	
			<b>Kartar Singh and Sons</b>	03ACUPS4160M1ZI	1	<b>11*4</b>	<b>11</b>	<b>4</b>	<b>44</b>	
			<b>Dhawan Kheti Store</b>	03ABHPK9898G2Z5	1	<b>9*4</b>	<b>9</b>	<b>4</b>	<b>36</b>	
			<b>Right Price</b>	NO	1	<b>10*4</b>	<b>10</b>	<b>4</b>	<b>40</b>	
			<b>Shri Ridhi Sidhi Trading Co.</b>	03AUZPP9233F1Z5	1	<b>34*4</b>	<b>34</b>	<b>4</b>	<b>136</b>	
			<b>JD Brothers</b>	03CHLPS4835D2ZA	1	<b>12*4</b>	<b>12</b>	<b>4</b>	<b>48</b>	



### District Wise Glow Sign Board Data (Branches)

Sno.	District	Particulars	Branches	Address	No. of Boards	Size ( in ft.)	L	B	Total Size (in ft)	Remarks
1	Amritsar	Glow Sign Board	Majitha ,	markfed branch majitha, shop no 3,4 bdpo complex	1	16*4	16	4	64	
			Majitha ,	markfed branch majitha, shop no 3,4 bdpo complex	1	3x2	3	2	6	
			Gehri	gehri branch jandiala	1	8*4	8	4	32	
			Tarsikka	tarsikka branch, jandiala	1	8*4	8	4	32	
			Rayya	rayya branch	1	8*4	8	4	32	
			Ajnala	ajnala branch attari road	1	2*6	2	6	12	
			Ajnala	ajnala branch attari road	1	3x6	3	6	18	
2	Bathinda	Glow Sign Board	Markfed Branch, Raman	Pirkhana Road, Raman Mandi Distt. Bathinda 151301	1	10x4	10	4	40	
			Markfed Branch, Sangat	Near Railway Fatak, Backside Railway Station, Sangat Mandi, Distt. Bathinda	1	10x4	10	4	40	
			Markfed Branch, Rampura	Ajit Mill Road, Near Gill Fatak, Rampura Mandi, Bathinda	1	10x4	10	4	40	
			Markfed Branch, Goniana	NH-54, Opp. City Palance, Goniana Mandi, Distt. Bathinda	1	10x4	10	4	40	
			Markfed Branch, Maur	Shop No. 145 A, old grain market, Maur Mandi, Near Gaushala, Distt. Bathinda	1	10x4	10	4	40	
			Markfed Branch, Bhucho	Shop NO. 75 Near Police Chowki, Bhucho Mandi, Bathinda,	1	10x4	10	4	40	
			Bathinda	Markfed Complex, Near FCI Depot, New Grain Market, Bathinda,	1	10x4	10	4	40	

3	Barnala	Glow Sign Board	Markfed Branch Office TAPA	Roop Chand Road, Opp SBI Bank Branch, Tapa	1	10 x 3.5	10	3.5	35	
			Markfed branch office Barnala	New Anaaz Mandi, Opp. Gaushala, Barnala	1	12 x 5	12	5	60	
4	Faridkot	Glow Sign Board	Markfed Branch, Jaitu	MRM Godowns, opp New grain market, kotkapura road, Jaitu	1	8x3	8	3	24	
			Markfed Branch, kotkapura	ARDC Godowns, opp new grain Market, moga road, Kotkapura	1	8x3	8	3	24	
			Markfed Branch, Faridkot	Ardc Godowns, new bholluwala railway crossing, New grain Market, Faridkot	1	8x3	8	3	24	
5	Fatehgarh	Glow Sign Board	BRANCH AMLOH	MARKFED BRANCH OFFICE, AMLOH, NEAR ANAJ MANDI/FCI, AMLOH, PIN CODE-147203, 9876081890	1	13 * 4	13	4	52	
			BRANCH KHAMANO	MARKFED BRANCH OFFICE, ANAJ MANDI, KHAMANO, PIN CODE-141801, 8427295995	1	13 * 4	13	4	52	
6	Fazilka	Glow Sign Board	Markfed Branch Abohar	LATAKAN DHANI ROAD NEAR PURANI CHUNGI	1	10*5FT	10	5	50	
			Markfed Branch Fazilka	MARKFED DISTRICT OFFICE FAZILKA OPP PATWAR KHANA	1	10*5FT	10	5	50	
			Markfed Branch Jalalabad	FEROZEPUR FAZILKA ROAD JALALABAD	1	10*5FT	10	5	50	
7	Ferozepur	Glow Sign Board	TALWANDI BHAI	MARKFED BRANCH OFFICE	1	10*4 FT"	10	4	40	
			GURUHARSAHAI	MARKFED BRANCH OFFICE	1	10*4 FT"	10	4	40	
8	Gurdaspur/ Ptk	Glow Sign Board	Markfed Branch	Markfed Branch Office, Gurdaspur Sale Centre, Pandori Road, Gurdaspur	1	10 x 4 (Feet)	10	4	40	

			<b>Markfed Branch</b>	Markfed Branch Office, Dinanagar, Near Police Station, Dinanagar	1	10 x 4 (Feet)	10	4	40	
			<b>Markfed Branch</b>	Markfed Branch Office, Focal Point Batala	1	10 x 4 (Feet)	10	4	40	
			<b>Markfed Branch</b>	Markfed District Manager Office, Gurdaspur.	1	10 x 4 (Feet)	10	4	40	
			<b>Markfed Branch</b>	Branch office, Pathankot	1	10 x 4 (Feet)	10	4	40	
			<b>Markfed Branch</b>	Markfed Branch Office, Pathankot	1	10 x 4 (Feet)	10	4	40	
			<b>Markfed Branch</b>	Narot Jaimal Singh, Pathankot	1	10 x 4 (Feet)	10	4	40	
9	Hoshiarpur	Glow Sign Board	<b>Markfed Branch Garhshankar</b>	Markfed Branch Garhshankar, Grain Market Garhshankar. Hoshiarpur	1	6*4	6	4	24	
			<b>Markfed Branch Mahilpur</b>	Markfed Branch Mahilpur, Village Dohiron, Mahilpur. Hoshiarpur	1	6*4	6	4	24	
			<b>Markfed Branch Tanda</b>	Markfed Branch Tanda, Near Railway Station Tanda.	1	6*4	6	4	24	
			<b>Markfed Branch Dasuya</b>	Markfed Branch Dasuya, Opposite Court Complex, Hoshiarpur Road, Dasuya. Hoshiarpur	1	6*4	6	4	24	
			<b>Markfed Branch Mukerian</b>	Markfed Branch Mukerian, Grain Market Mukerian. Hoshiarpur	1	6*4	6	4	24	
10	Jalandhar	Glow Sign Board	<b>Markfed Branch</b>	Bhogpur Mill Road Opp. Bhogpur Railway Stn. Jalandhar, 9988292902	1	8x3	8	3	24	
			<b>Markfed Branch</b>	Nurmahal near Punjab National Bank Nurmahal, Jalandhar, 8054091301	1	10x3	10	3	30	

			<b>Markfed Branch</b>	Nakodar near old grain market nakodar, Jalandhar, 9855433506	1	<b>10x3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
			<b>Markfed Branch</b>	Mohalla Gazi Gulla, Jalandhar, 9464637578	1	<b>10x3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
			<b>Markfed Branch</b>	Shahkot Malsian road shahkot	1	<b>10x3</b>	<b>10</b>	<b>3</b>	<b>30</b>	
<b>11</b>	<b>Kapurthala</b>	Glow Sign Board	<b>Markfed Branch Office</b>	Old Dana Mandi, Sultanpur Lodhi (Ravi Sher Singh) , 9915626002	1	<b>12x3</b>	<b>12</b>	<b>3</b>	<b>36</b>	
			<b>Markfed Branch Office</b>	New Dana Mandi, Kapurthala (Shaktiman Singh), 9592514750	1	<b>10x4</b>	<b>10</b>	<b>4</b>	<b>40</b>	
			<b>Markfed District Office</b>	Gopal Park, Kapurthala	1	<b>10x4</b>	<b>10</b>	<b>4</b>	<b>40</b>	
			<b>Markfed Branch Office</b>	Khera Road, Phagwara, 9876501617	1	<b>12x4</b>	<b>12</b>	<b>4</b>	<b>48</b>	
			<b>Markfed Branch Office</b>	Dana Mandi, Bholath, 9530772979	1	<b>20x4</b>	<b>20</b>	<b>4</b>	<b>80</b>	
<b>12</b>	<b>Ludhiana</b>	Glow Sign Board	<b>LOCAL BRANCH LUDHIANA</b>	GIASPURA MAIN ROAD OPPSOTE HARPREET GAS NEAR ELECTRICITY OFFICE GIASPURA, 9872970575	1	5"3 FT	<b>5</b>	<b>3</b>	<b>15</b>	
			<b>BRANCH OFFICE SAHNEWAL</b>	NEAR OLD GRAIN MARKET NEAR BANK OF INDIA SAHNEWAL, 9872970575	1	5"3 FT	<b>5</b>	<b>3</b>	<b>15</b>	
			<b>BRANCH OFFICE DORAHA</b>	OLD GRAIN MARKET NEAR BANK OF INDIA, DORAHA, 9417362929	1	5"3 FT	<b>5</b>	<b>3</b>	<b>15</b>	
			<b>BRANCH OFFICE MALAUDH SIHAN</b>	DAUD ROAD NEAR GOVT SCHOOL, MALAUDH PIN CODE 141119, 9417362929	1	5"3 FT	<b>5</b>	<b>3</b>	<b>15</b>	
			<b>BRANCH OFFICE KHANNA</b>	SAMRALA KHANNA ROAD NEAR PUNJABI BAGH COLONY KHANNA, 8288968308	1	8"3 FT	<b>8</b>	<b>3</b>	<b>24</b>	

13	Mansa	Glow Sign Board	Markfed Branch Office Mansa	NCDC Godown , Talwandi Road, Mansa	1	15x4	15	4	60	Bi-Pole Fixation is recommended as per location.
			Markfed Branch Office Bhikhi	Markfed Panchayati Open Plinth, Pharwahi Road, Bhikhi	1	15x3	15	3	45	Bi-Pole Fixation is recommended as per location.
			Markfed Branch Office Budhlada	Ratia Boha Road, Budhlada	1	12x3	12	3	36	
			Markfed Branch Office Bareta	Near Grain Market, Opposite BSNL Exchange, Bareta	1	10x3	10	3	30	
			Markfed Branch Office Sardulgarh	Markfed Cotton Factory, Sirsa Road, Sardulgarh	1	15x3	15	3	45	Bi-Pole Fixation is recommended as per location.
14	Muktsar	Glow Sign Board	Lambi	Muktsar	1	12x2	12	2	24	
			Gidderbaha	Muktsar	1	10x4	10	4	40	
			Malout	Muktsar	1	12x4	12	4	48	
			Muktsar	Muktsar	1	10x5	10	5	50	
15	Moga	Glow Sign Board	MOGA MBO	Moga	1	8*12	8	12	96	
			BAGHAPURANA MBO	Moga	1	8*13	8	13	104	

			<b>AJITWAL MBO</b>	Moga	1	8*14	8	14	112	
			<b>NIHALSINGHWALA MBO</b>	Moga	1	8*15	8	15	120	
			<b>DHARAMKOT MBO</b>	Moga	1	8*16	8	16	128	
<b>16</b>	<b>Mohali</b>	Glow Sign Board	<b>Kurali</b>	Markfed Branch Kurali, Near Anaaj Mandi, Kurali	1	13*4	13	4	52	985543 4066
			<b>Lalru Branch</b>	Markfed BranchOffice Lalru, Near New Grain Market , Lalru	1	13*4	13	4	52	946367 7673
<b>17</b>	<b>SBS Nagar</b>	Glow Sign Board	<b>MRM Nawanshahr</b>	<b>Nawanshahr</b>	1	6x4	6	4	24	
			<b>Mahel Gahlan Society</b>	<b>Nawanshahr</b>	1	5x4	5	4	20	
<b>18</b>	<b>Patiala</b>	Glow Sign Board	<b>Markfed Branch</b>	<b>samana</b>	1	7.5x3.5	7.5	3.5	26.25	
			<b>Markfed Branch</b>	<b>rajpura</b>	1	7x4	7	4	28	
			<b>Markfed Branch</b>	<b>bhadso</b>	1	6x4	6	4	24	
<b>19</b>	<b>Ropar</b>	Glow Sign Board	<b>Ropar</b>	Markfed Branch Office Ropar , Old Bus Stand, Ropar (140001)	1	13*4	13	4	52	869942 0344
			<b>Morinda</b>	Markfed Branch office Rangian road Morinda	1	13*4	13	4	52	985543 4066
			<b>Shri chamkaur Sahib</b>	Markfed Branch Chamkaur sahib ,Near Petrol Pump,(Sahlo Majra Road)	1	13*4	13	4	52	991522 4252
			<b>Nangal</b>	Markfed Branch Office Nangal ,Jawahar Market, Nangal	1	13*4	13	4	52	805420 6233
			<b>DM Office Ropar</b>	Markfed Complex B1 Gaini Zail Singh, Nagar Rupnagar Pb, 140001	1	13x4			52	946359 6523
<b>20</b>	<b>Sangrur</b>	Glow Sign Board	<b>Dhuri</b>	Sangrur	1	10x4	10	4	40	
			<b>Munak</b>	Sangrur	1	20x3	20	3	60	
			<b>Sunam</b>	Sangrur	1	14x4	14	4	56	

